CRA - EB . SRS - MIRAE ofl &t i HIDEZ

At 26,022,496 23,477,261 ,545,235
= 11,984,651
[ 1,500,000
Il 3,203,300
= 9,334,545

SMHEE Fdq & oM = = 25,841,276 23,293,829 2,547,447
= 11,984,651
= 1,500,000
Jl 3,203,300
= 9,153,325

g =8 20,975,627 20,916,673 58,954
= 11,654,681
Il 2,617,300
T 6,703,646

S4Y oy & 3 6,762,878 6,152,141 610,737
= 5,757,420
= 1,005,458

308 AHAIEHMISOIE 6,762,878 6,152,141 610,737
= 5,757,420
S 1,005,458

01 AXISHHBAEX 6,762,878 6,152,141 610,737
OJt=2g o 6,762,878
= 5,757,420
& 1,005,458

= oger X 315,000 315,000

308 AHRIEMSOIE 315,000 315,000

01 HAHH B2 x 315,000 315,000
O3It=s Mg 315,000

AxtE 2 2Y HA 60,000 20,000 40,000
= 60,000

403 AXIEMSA=201H 60,000 20,000 40,000
= 60,000

01 XIS A= 60,000 20,000 40,000
oysxy, 24 60,000
= 60,000

= YA =22 eIt X&(=1) 1,857,500 1,826,200 31,300
1,115,000
742,500

307 elzZtold 1,857,500 1,826,200 31,300
1,115,000
& 742,500

02 2B AAHE R 1,857,500 1,826,200 31,300
OIFFLAAL 2121 1,857,500




A2 =33 2N S2YeD
ma: JIENYY WS U AW BN I|Y 7
el JIEey = (EEREED
AR 2A - ZH . G(3) - NBAY - BES 01l abot i HIm =2
J| 1,115,000
& 742,500
st e g A=SAE K2 45,000 52,920 AT7,920
308 XXM SO & 45,000 52,920 AT7,920
01 IXESHNBLEES 45,000 52,920 A7,920
OsIt LA E A=A4F XN 45,000
CCTV & gaolmet AX XN (=1) 309,517 309,360 157
| 238,090
& 71,427
403 XXM S KH=201H 309,517 309,360 157
J| 238,090
& 71,427
01 RIXIHH K22 X 309,517 309,360 157
OCCTV & gtooldet dX| XI& 309,517
J| 233,090
& 71,427
ASF, HPAL, FMD MAIZSXIAH 2= 305,000 505,000 A200,000
202 O4b| 5,000 5,000 0
01 =WHO4HI 5,000 5,000 0
QUALIHAH 5 =X 5,000
206 =4I 300,000 500,000 A200,000
01 M=l 300,000 500,000 A200,000
OASF, HPAI, FMD &AL A 2= 300,000
AMHE BA&32(=21) 3,037,500 3,375,000 A337,500
= 2,700,000
= 337,500
308 RtXISHHMSO0I A 3,037,500 3,375,000 A337,500
= 2,700,000
< 337,500
01 HXSHBAEERS 3,037,500 3,375,000 A337,500
Oax=E B&43 3,037,500
= 2,700,000
o= 337,500
SE2YY - SAUSMUN - SSES HSsE M2 10,700 10,700
201 B2 3| 10,700 10,700
01 At22elt| 10,700 10,700
oY aga 2F, UA 2 WK S 10,700
HE - SH - XS Al 22X 1,909,628 2,044,178 A134,550
202 Oid| 5,000 5,000 0
01 =WHHHI 5,000 5,000 0
OII=EYS g2 =& 5,000
308 AXISHMSOIA 1,904,628 2,039,178 A 134,550
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A2 =33 2N S2YeD
ma: JIENYY WS U AW BN I|Y 7
el JIEey = (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
01 AXESHNBLEEXS 1,904,628 2,039,178 A134,550
OXHEA A8 2EXA 1,904,628
=z E HgEE N 91,200 91,200
308 AtXISHMS0IH 91,200 91,200
01 AXEHBAEES 91,200 91,200
oi=sdzE & HYES N 91,200
IIEAMMAE KOS X 22 - AZ)(21) 166,025 174,000 AT,975
= 114,500
& 51,525
308 AXISHMSO0I& 166,025 174,000 AT,975
= 114,500
& 51,525
01 AXESHNBLEEXS 166,025 174,000 ANT,975
OIEAMMKEl KOS 22l - AY) 166,025
= 114,500
= 51,525
iEsdgyg ¢4 B X 198,789 200,775 A 1,986
308 AtXISHMSOIH 198,789 200,775 A 1,986
01 AXSHHBAEES 198,789 200,775 A1,986
OJ=sdgd & Bx3 X2 198,789
NEAM A XAOFEEHAM =HX2H X&) (=1) 36,400 127,400 91,000
= 28,000
& 8,400
308 KXISHMSOIA 36,400 0 36,400
= 28,000
< 8,400
01 AXSHBLEES 36,400 0 36,400
OMNSAMKE K& (IFSHAM =HX 2l
X&) 36,400
= 28,000
== 8,400
32 =2 & 226,800 208,800 18,000
308 AtXIHMSO0IH 226,800 208,800 18,000
01 IXSHBHEELS 226,800 208,800 18,000
022 =% I& 226,800
NEAM A XA OFEEHAMM =HE X)) (=1) 63,700 258,700 A195,000
= 49,000
= 14,700
403 XtXIHMS K201 A 63,700 258,700 A195,000
= 49,000
== 14,700
01 XISHHA2E S 63,700 258,700 A 195,000
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A2 =33 2N S2YeD
ma: JIENYY WS U AW BN I|Y 7
el JIEey = (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
OJIEAHIME! X2 OISHAK 218 X
&) 63,700
= 49,000
= 14,700
THS g XA(=21) 3,178,727 3,323,126 A144,399
= 2,726,761
o= 451,966
308 AXIEHMSO0IA 3,178,727 3,323,126 A 144,399
= 2,726,761
& 451,966
01 AXIHHBLEES 3,178,727 3,323,126 A144,39
OTHM<E & K& 3,178,727
= 2,726,761
& 451,966
SSHHS 2H(=21) 1,517,052 1,489,532 27,520
J| 1,264,210
& 252,842
308 KXIHMSOIH 1,517,052 1,489,532 27,520
| 1,264,210
== 252,842
01 AXSHHBAEES 1,517,052 1,489,532 27,520
OZ2s¢H 23 1,517,052
| 1,264,210
& 252,842
IIZ2EY HEAA" 25 36,300 36,300 0
308 XXM SO & 36,300 36,300
01 IXESHNBLEEXS 36,300 36,300
OJI=Z2E HZAIAE 2= 36,300
ONMESE JITM K& 66,330 69,300 22,970
308 RtXISHMSOIH 66,330 69,300 A2,970
01 AXSHBAEES 66,330 69,300 A2,970
OOrME2 DIIlAM X 66,330
Y AIS=sIH HIASZH KR 63,000 61,080 1,920
308 AtXIEMS0IA 63,000 61,080 1,920
01 AXESHNBAEEXS 63,000 61,080 1,920
OEE AT HIESZH N 63,000
St AHEAZ ASAE E2Hl K& 53,571 53,571
403 XX SHHMSK=01AM 53,571 53,571
01 XtXIEHHI A= 2 = 53,571 53,571
O=Jt XA Z ASAIE & X2 53,571
SERSA HAN XMl & 8,568 8,568
308 AXIHMSOI& 8,568 8,568
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=X

[S=N |

IIEHYY HIYS L OF 5
Ege FX

AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
01 AXEHBLEES 8,568 8,568 0
O ZEAE HAM Mol 7% 8,568
A HESIH MG HAFHE Al=Hl XA 231,800 225,000 6,800
202 04| 6,800 0 6,800
01 =WHHHI 6,800 0 6,800
OFHE HAESTS =& 6,800
308 AXISHMSOIA 225,000 225,000
01 AXISHHBAEES 225,000 225,000
O MYE=sIH 2HY WAEES Al=tl X3 225,000
& sJt 282el XE 40,992 29,742 11,250
308 KXISHMSOIA 40,992 29,742 11,250
01 AXSHBLEES 40,992 29,742 11,250
O =JF 2g2e| K& 40,992
RAsIH ADE 2Y A AAE 25 11,250 22,500 A11,250
403 XX SHHMSK=01M 11,250 22,500 A11,250
01 MXIHAMA2EE 11,250 22,500 A11,250
RASIH ADE 29 A AAE 15 11,250
oAt H=s KR 10,000 10,000
307 2IZto| A 10,000 10,000
02 QIZtBAAIHE X 10,000 10,000
O=2At Au= K& 10,000
LESIF ASF 2 z2te] X 77,700 31,500 46,200
403 RtXIHMS K201 A 77,700 31,500 46,200
01 XtXIEHHI A= 2 = 77,700 31,500 46,200
OL==0F ASF g z2te| & 77,700
goxte o FHAMEH S NI (HELSEA)(2D 284,700 0 284,700
)
= 219,000
& 65,700
403 XX HMSAH=01H 284,700 0 284,700
= 219,000
& 65,700
01 AIXIHH K22 X 284,700 0 284,700
oYtz & Y HAIEH S XA(HEA
SAIE) 284,700
= 219,000
= 65,700
gtes=E 25 - 2l 3,672,139 1,196,456 2,475,683
= 323,970
s 1,500,000
& 1,848,169
2| - RASS Y XA (21) 21,645 18,720 2,925
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A2 =33 2N S2YeD
mE: JIEFYY WS U AW BN I|Y 7
Hel BedsSE 25 - 2 CERE)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 16,650
= 4,99
308 AHAIEHMISOIE 21,645 18,720 2,925
= 16,650
= 4,99
01 XN B SELS 21,645 18,720 2,925
ORIl - mdsS= g2l XA 21,645
= 16,650
& 4,99
PSS AUSH(HEAIY) 51,000 51,000 0
403 AXIEHMS =01 51,000 51,000
01 MHXIHHAZE X 51,000 51,000
OteisE =016 =4 (38 51,000
SE2S - 22l - el N 305,050 153,700 151,350
202 04l 6,800 6,800 0
01 2LHOIHI 6,800 6.800 0
SSEsYR =M 6,800
308 MR EMSO0IH 298,250 146,900 151,350
01 XN B ELS 298,250 146,900 151,350
Oos=s2= - &2l - XMel XN 298,250
R - pAsE P 25 8 X (21) 61,404 61,404 0
= 36,120
= 25,284
308 NHAIEHMISOIE 61,404 61,404 0
= 36,120
= 25,284
01 XN B EEEXS 61,404 61,404 0
ORIl - RES=S 72& - 23 HIE K& 61,404
= 36,120
= 25,284
2020 B3 =24l A (21) 218,240 214,632 3,608
= 99,200
= 119,040
308 NHRIEMISOIE 218,240 214,632 3,608
= 99,200
= 119,040
01 MXHHBdEx= 218,240 214,632 3,608
0210l sdzt+=Hl XA 218,240
= 99,200
= 119,040
S=25 - =X A4 K& 30,000 21,000 9,000
403 AXIEHMSA=01H 30,000 21,000 9,000
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A2 =33 2N S2YeD
mE: JIEFYY WS U AW BN I|Y 7
o9l BIRASE 25 - 22 (@9l mg)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
01 XtXIEHMI A= 2 = 30,000 21,000 9,000
Os28& - =X Ald X& 30,000
Bl SS0ZREAE (=) 2,200,000 510,000 1,690,000
s 1,500,000
= 700,000
403 XtXIHMSAH=201H 2,200,000 510,000 1,690,000
s 1,500,000
== 700,000
01 XISHHMA=2E X 2,200,000 510,000 1,690,000
O=s=234dH 4XXIA 2,200,000
s 1,500,000
& 700,000
H=¢t BleisSE 28 &4 2,000 2,000
201 B2 AH| 2,000 2,000
01 AtR2teltl 2,000 2,000
O==2= M&E S 2,000
ARIAEA B3tz KA (31) 254,200 164,000 90,200
= 124,000
< 130,200
308 AXISHMSOIA 254,200 164,000 90,200
= 124,000
& 130,200
01 AIXIHHBAELS 254,200 164,000 90,200
OaUMEA SH3t+= K 254,200
= 124,000
= 130,200
2t SEESAE SFINEXIR(=1) 69,600 0 69,600
= 48,000
< 21,600
403 XX SHMSK=01H 69,600 0 69,600
= 48,000
== 21,600
01 XISHHMA=2E X 69,600 0 69,600
ORIZI=SZ2ESAIE SHZEME XA 69,600
= 48,000
& 21,600
2T AMSIFAULIL Bts=2 dZHl XA 42,000 0 42,000
308 RtXISHMSO0I A 42,000 42,000
01 AXEHBLEES 42,000 42,000
OLAT ASIHSERLC BteisE &=H| Al
& 42,000
BIASSAIAMEH 148 XJ(XE) 305,000 0 305,000
401 AIEBIZL20HB| 305,000 305,000
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A2 =33 2N S2YeD
mE: JIEFYY WS U AW BN I|Y 7
Hel BedsSE 25 - 2 CERE)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
01 Al&H] 300,000 0 300,000
OtteisE XJHE HE XA (HE) 300,000
03 Al&2CHYI 5,000 0 5,000
Ofts2 X2ME 2HE XA (XE) 5,000
S=25 - 2A2xF X 112,000 112,000
308 AXIEHMSOIE 112,000 112,000
01 MXHHBSExS 112,000 112,000
Oss2s - 2el2XF N 112,000
e ?d - oty 22 1,193,510 1,180,700 12,810
= 6,000
Il 586,000
= 601,510
A2 HACCP I E(=21) 46,000 82,800 A\36,800
Il 40,000
= 6,000
308 NHRIEHMISOIE 46,000 82,800 36,800
Jl 40,000
= 6,000
01 XN B EEExS 46,000 82,800 A36,800
O=F4t= HACCP A& XIH 46,000
Il 40,000
= 6,000
Satsot & S HACP AIE 74,010 74,200 A190
202 O 6,000 6,000
01 =LA 6,000 6,000
OHACCPAIR = 6,000
308 NHRIEHMISOIE 11,760 11,800 A0
01 XM B2 xRS 11,760 11,800 A0
OXYE HACCP 218 XI¥ 11,760
403 XXM SA=01H 56,250 56,400 A150
T RARISH A 22 2 56,250 56,400 A150
OHACCP Al - EHI S XI& 56,250
NXIEH HoSMSAMTAIY 2E+E(31) 12,000 12,000 0
= 6,000
= 6,000
301 etENS 12,000 12,000 0
= 6,000
= 6,000
14 JIEt2 4= 12,000 12,000 0
OXXIEH SHF=MSALZAIE 2S¢ 12,000
= 6,000
= 6,000
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od
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oF
uJ

24,500
24,500
AN4,500
54,300
54,300

54,300

N2,212
N2,212

HwE

N2,212

A1,904
A1,904
308
308

156,000
156,000
156,000
855,700
855,700
855,700
33,432
33,432
33,432
23,676
23,676

dHEC
Ol &42H

6,156
6,156

3,600
3,600

151,500
151,500
151,500
151,500
910,000

546,000

910,000
546,000
910,000
910,000
546,000
31,220
31,220
31,220
21,772
21,772
21,772

364,000
364,000
364,000

Ofl &8

5,848
5,848
5,848
3,600
3,600
3,600
150,000
150,000
150,000
150,000
150,000

150,000

R
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[l

2|

e

2|

=

=]

Bl JH& X
FIMAH| JHL X

=
A=01H

- SR1(3) - HIRAHY

AH

S
=
S

d

t

- Hu

307 212+01 ™

403 XtXl

2. 24
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\U
I

30
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3
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J
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